Name VUM. e
-

6 t." Chris is designing a rectangular garden plot on a plece of grid paper. ke has marked three of
the corners of the plot as shewn.
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" 'Which ordexed pair names where Chris should add.a poin to represent the fourth corner of
the rectangle? &
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c 2. Ana cufs a rectangle into 2 picees as shown below.
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Whatisthlc arca of the triangle? H_ bh;.‘}
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‘B 3. Triangle XYZ is graphed on a coordinate plane at points X(3, =43, Y(3, 2),
and Z(7, ~4). What is the area of triangle XYZ?

. J U5 Jne Coordinote plare on ¥ 12 Yo
12 units? \'\d\p - Az =2
c. 24 units? Az U-o=72
A= \QU?



B 4. What is the avea, in square units, of the trapezold?
A= \ni 2 (o, +92)
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C, 5. Ana cnt a rectangle into 2 pleces as shown below. 2
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What is the area of the triangle? ~ P\: bh -3
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C, & Rectangle EFGH has three vertices at £(-5, 4), F(3, 4), and G(3, 7). What
are the coordinates of vertex A?

a5 ¥ UL Yag coordinate plane on #13 volnelp - ¥
B (5,3) '
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6 7. The dimensions of a right triangle are shown ey

What is the area of the triangle?

A 48 square centimeters : i
96 square centimeters

C. 192 square centimefers

0. 256 square centimelers
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A= ‘2o 2
A= qlptm?‘




’ Cv 8. What is the area of the triandle below?
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| ' A= 20:10-2
B. 60 ft? 4 pe2
(® 100 2 A= 100k
D. 200 ft? -
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ﬁ& 'What is the area of the parallelogram below? R
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(C, 1°- Nahil cuts a rectangle into 2 pieces as shown below.
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6 1. The figure below is formed from a triangle and a sguare The square has
’ sides that measure 5 units.
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What Is the perimater of the entire figure? :: :
A 20 units | 7 ] y X
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612 Jeﬂ' plotteui some points ma coordmate grap‘h am! conncetell the pomik | W

| He realized that one more pumtwould compléte a parallelugram. Whe:eshould he plot f
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%‘3 What is the area in square meters of the triangle below? i
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214 The figure helnrw is :hvided into four small sqnnreu 'ﬂm Bld és nf each sma‘l] square are G.em,

: What is the area, in square centimeters, of the entire figure? . lﬁ
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L 15. I the arca of ‘i‘rhngleABB is12, sqnareunﬁs. what is the area of RecmngleABCD" L V)
A G square units 8o . 8
B, 12 squarewnits | ket
@ 24 square units
D. 48 gquareunis & ¢
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la 17. Mariel i setting tile on the floors of her réctangular kitchen and squarc breakfast avea. The
i diagram shows the dimensions of the 2 rooms. Each file covers 1 square foot.

Breaxbust - 6nd 0dd them

Find Phe area of each oom,
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' Yfeach file costs $1.29, how much will Mariel pay to buy tile for both rooms?
A §$269.00

- 240
: 830060 .
(? $1,946.00 __7’-),_93_.

D. $1,986.60 4 30"! LD
6 18. A square is 3.2 millimeters (mm) on each side, What is the area of the square?
A4 it H‘; 51 %
1024 3 ;
C. 128 m; A= 5.2 2
8 om ;
0. 3217 gt A= 0. 2%

{2 19. Laura framed her rechnpﬁar garden with boards. She used 1 board on each side. The
longer sides were 7.5 fect long, and the shorter sides were 6.5 feet long, What is the area of

her garden in square feet? “ ﬂ - E

tw . A=15:LS
s A= ug. 156’

pﬁ 20. The measurements for the p.ara]lclog-ram are given in meters.
n w___ p=lon
A n=30:\?
A= Bom?

) What is the area of this paralielogram, in square mefers?
(® 360
B 300
C. 516
. D750



